8. a)

(&)

Define aberration what are the causes and. types
of aberration. Explain each with suitable

_ 9
%i%im%mﬂﬂﬁﬁl Quges feral & wEradl
3} T UER T BN B A1

OR/3rexEr .
Define critical angle and total internal reflection
find the critical angle for glass aug =3/2
wifove aor ity quf sTTes TRraEs B aRuTI
Hferd) wia & frd wifie Fio garen

aug =3/2

b) Three capacitor of capacitance ¢, ¢, €, u.rc.
connected in series. Derive one eXpression EU:
the equivalent capacitance for the combination.9
S e S g ¢, ¢, ¢, H S gl A
FeRE warem & o sifvea gead E I

OR/3Yan

For any Prism derive
Rt forom W ford frg !

) A+sin]

n e = =
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sin —2‘-
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Time : Three Hours

Choose the correct answer.

Wal IR &7 997 HIR

{a) Red colour

(c) Violet colour
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Maximum Marks : 100

Note : 1) Attempt total six questions. Question No. 1

(Objective type) is compulsory. From the
remaining questions attempt any five.

P B W g DTG 1 997 BT | (awgfim
UBR 1) Afarf g1 9w weai # F ) iy
&1 g o

i1) In case of any doubt or dispute, the English

version question should be treated as final.
fadt off R & W srerar faare H fRufy
SIS wTeT & WeT &Y Siftrm AT WRm

2 each

The Focal length of convex lens is maximum for.

(b) Yellow colour
(d) Blue colour
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(3)
(2)

s ¥Adad o9 & awar fwar 10 9.4t

ST ofw H wrea I sifiman gt ¥ - F,
(35) e < 3 (a) st < 3 l*’:z}a"mﬂ“@‘“'*‘”@@’ﬁ‘
() ety 3 3 (3) et 41 4 (31) 10 ¥

i) 1f temperature of an electrolyte increases its @) s
resistance.
(a) Decreases (b) Increases (@) 20 |+t
(¢) Same (d) None ofthe above (T) U B BIE T8
afe fedt sreca @1 @ gern s & s iv) The energy generation in star is due to
mferTer- (@) Fusion of heavy nuclei
(ar) @m g & (b) Fusion of light nuclei
(9) Taar 2 (¢) Chemical reaction
(W)agd) vgar g (d) Fission of heavy nuclei
(3) SRS o A a1 off 78 Rl & Forf geosr gt 2-

iii) Radius of curvature of plans convex lens is (a1) w3 v

. 3 . .

10 cm. Its focal length is (ﬂ = ‘2-) (9) gep MNST & w7
(a) 10 em (@) It
(b) 3 cm | (2) wrh fve & g &
(c) 20 cm
(d) None http:/ /www.rgpvonline.com
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4)

v) The helium nucleus is
(a) o~ particle
(b) B - Particle
(c) ¥~ Particle

(d) none of the above

HAfera @1 D 8-

(a1} oL Ul

(@) p&T

(@) y&u

(@) Iw ¥ ¥ B o T

2. a) 1 gm substance is converted into energy

calculate its value in joule. 6
@mwﬁ*zﬁwﬁmmﬁlﬁ
St @1 M S o qanad)

b) Define Mass detect and Binding energy. 6

awmafﬁaﬂ?maﬁﬁzﬁqﬁmmm
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¢) Define ampere -hour capacity of a Battery. 6

Fo&t $ ofitx Ha amar B aRuE Q

3. a) Compare the properties of a., B, y rays. 9
o, B, v fRolr & auil i geren K
b) Explain the law of photo-electric emission. 9

vrapTel g St & e & amen i

4. a) Draw the neat ray diagram of compound
microscope. Write the relation for its magnifying

Power. ~ 9
i gewaslt o1 vaes e TR Swh s
& 1 g ford)

b) Draw the neat ray diagram of Astronomical
telescope How it can be converted into Terres trial

telescope. 9

@‘ilﬁﬂﬂ@%ﬁﬁﬁamaﬁ?aﬁﬁgﬁﬁ

wifdfa gxeeff # agem s W@ gl
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(6)
Explain the principle of Wheat stoné bridge. ©6
e W@ g B g B e &l
Explain the principle of shunt. 6
qrede % Rz $ e B

What is the difference between pure and impure
spectrum? How will you get pure spectrum. 6
91§ 3R 19pg aofera 5 a4 SR 21 g auimH
Y & TTE B ?

Explain the principle of Potentiometer and how
will you determine the internal resistance of g
cell?

SryeaTd % Rigra & sl fafor aur T
fret W 1 oAl wfdE S B
TS| '

Explain laplace's law and derive the intensity of

magnetic field at the centre of circular coil. 9

e 3 Fraw & e R aul gard
Wﬁ%ﬁﬂg@zﬁmaﬁzﬁeﬂm?ﬁwﬁﬁ
T S|
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7. a)

b)

PT/F/2014/0003

)

Discuss the basic conditions for obtaining
interference fringes on the screen. 6
R TR efeT i a9 ) ae et Rl
State the law of force between the electric
charges. What are the units and numerical values
of the constant k and ¢ in SI system. 6
3 R amet B T GE @@ ad g &
Frag Y fore fRRTS k a1 &, & IS A
T THTEAT T 377E Honedt | ford ?
OR/3=MEr

What are the factors which affect the potential
of'a conductor.

frelt e & fava @t oWIfdd @R a1l BRSE
®F B R 2?7

What is a kilowatt-hour? Prove that
1 kwh=3.6x10°]. 6
fretare der a1 8 7 fug & 15
1 kwh=3.6 x10°].

OR/&Ydl

State Joule's law of production of heat due to
flow of electric current in a conductor.
falt Trers 3 faege umn wanfed B WY S
S % farit s ¥ PR @ aRfRa B
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